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by # 73, 104 172, 755 81, 452 91, 303 147 -97 244
H A B 20,014 46, 794 21, 365 25,429 48 -24 12
+ = 542 1,323 627 696 -1 0 -1
FBAF—TH 226 586 269 317 -2 1 -3
4BE_-TH 166 390 171 219 -2 0 -2
4BE=TEH 261 647 286 361 2 1 1
4BFMTH 344 865 416 449 4 -2 6
4SBERTH 230 605 271 334 -1 -1 0
4BAFENRTH 468 1,068 450 618 -4 -2 -2
Z B = 1,152 2,714 1,239 1,475 -4 -1 -3
FmEEfA—TH 250 613 292 321 5 -2 7
mEMA=TH 151 387 172 215 1 0 1
£/T—TH 486 1,097 476 621 7 2 5
£/ TFZTH 172 396 180 216 -4 -1 -3
£/ TF=TH 248 542 248 294 -3 -1 -2
£/ THETH 329 725 344 381 6 -1 7
£/ THETH 39 93 48 45 0 0 0
£ /J F 19 44 19 25 0 0 0
mAB®—TH 230 448 198 250 5 0 5
RAXZTEH 165 382 174 208 1 -1 2
MABR=TH 118 314 154 160 1 -2 3
RASMTH 243 573 260 313 0 -1 1
INET—TH 146 302 141 161 -1 -1 0
INETZTH 479 1,193 524 669 7 -2 9
INBT=TH 231 492 225 267 2 -1 3
KET—TH 441 921 409 512 -10 -2 -8
KET—TH 555 1,243 563 680 -4 1 -5
KET=TH 382 833 375 458 -2 0 -2
KETIUTH 369 960 434 526 5 0 5
KETRTH 293 692 340 352 1 -1 2
KETRTH 190 532 244 288 4 0 4
KETETH 82 219 97 122 -3 0 -3
MARE—TH 440 1, 047 486 561 5 1 4
MARE_TH 444 977 456 521 -3 -3 0
MARE=TH 635 1,530 712 818 14 0 14
MAREMNTH 264 639 307 332 5 1 4
MARERTH 584 1,394 648 746 11 1 10
MARERTH 478 1,160 563 597 -16 -2 -14
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£E&—TH 347 799 367 432 -9 -2 -1
EAZ-TH 765 1,667 752 915 6 1 5
EA&=TH 162 427 176 251 2 0 2
EAWMTH 137 252 119 133 0 0 0
EAETH 370 965 461 504 2 -2 4
kR / F 502 1,229 540 689 -11 -2 -9
BEEF—TH 294 641 302 339 0 0 0
WEEF_TH 248 581 261 320 2 0 2
WEE=TH 187 396 185 211 1 -1 2
WBEEFLMTH 103 256 106 150 0 0 0
A AB—TH 219 486 221 265 1 0 1
WM AHB=-TH 165 407 185 222 1 1 0
WAAB=TH 217 582 235 347 2 0 2
WA AHBmTAE 139 405 175 230 0 3 -3
WMAABETH 591 1,463 681 782 5 0 5
B o #h i 9,928 24, 503 11, 462 13, 041 25 -13 38
[E#—TH 408 1,269 581 688 -4 0 -4
E#g_—TH 491 1,186 575 611 0 -2 2
E#%=TH 716 1,631 760 871 1 -2 3
E#rm T B 335 751 373 378 -6 0 -6
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tEBHEERE—TH 7 23 10 13 6 0 6
tEBAHEER-TH 444 1,075 490 585 0 -1 1
tEBHEER=TH 480 1,236 559 677 -1 -1 -6
tEBAHEEREMTH 482 1,153 510 643 2 0 2
tEBAHEERRATH 267 692 334 358 -3 -2 -1
EmB—TH 706 1,817 848 969 3 2 1
EBR_-TH 450 1,093 533 560 -6 0 -6
tBHE—TH 443 1,050 502 548 -4 -1 -3
tEBAHEZTH 360 880 403 477 -1 -1 -6




#ig Al - BT - FRIOHHEEAO Er28FE4A1HIRE
_ " A O W A K

T R i 5 & i | B | aamEm
FEOR O = 14,029 33, 688 16, 043 17, 645 -2 =31 29
#E—TH 346 830 405 425 15 1 14
w’E_-TH 811 2,041 974 1,067 0 -1 1
#E=TH 562 1,369 629 740 -5 -3 -2
R#EOTH 325 738 333 405 1 -1 2
#ERTH 382 775 364 411 0 -2 2
i =) 238 483 261 222 5 0 5
FHN—TH 448 1,074 534 540 -9 -1 -8
= i = 484 1,147 509 638 -1 -5 4
FH9=TH 387 996 427 569 -4 -1 -3
F 4 299 585 295 290 4 -2 6
1] % 2,316 5,436 2,696 2,740 -1 -5 4
t B E 748 1,844 862 982 -6 0 -6
FL—TH 284 705 346 359 6 -1 7
FILZTH 454 1,153 545 608 -8 -2 -6
FIR=TH 312 807 398 409 -1 -1 0
FLEMTH 564 1,442 707 735 5 -2 7
FLAETH 198 413 207 206 -11 0 -11
FILATH 101 219 113 106 -1 0 -1
F i 41 89 36 53 -3 1 -4
HEH—TH 179 412 201 211 5 1 4
HH_-TH 379 944 458 486 -6 0 -6
HEHA=TH 807 1,960 952 1,008 -15 -4 -11
HHMTH 338 816 393 423 8 0 8
EARATH 606 1,528 706 822 10 -1 11
HHNTH 198 482 221 261 6 -1 7
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= i 1,379 3,320 1,544 1,776 -13 0 -13
#wEL—TH 220 534 238 296 -1 0 -1
#HEIL—-_TH 240 605 272 333 5 0 5
HEIL=TH 247 596 270 326 5 -1 6
#HEILMTH 136 345 147 198 8 0 8
X M #h = 19,118 42,907 20,672 22,235 51 -17 68
b/ A 1,702 3,812 1, 806 2,006 -8 1 -9
5Z-TH 776 1, 391 709 682 -4 2 -6
£=TH 678 1,540 725 815 4 0 4
EMTH 708 1,634 796 838 -3 -1 -2
EETH 1,101 2,760 1,352 1,408 10 0 10
a 872 2,033 953 1,080 9 -2 11
INEA—TH 575 1,035 538 497 9 0 9
INERZTH 919 1,974 990 984 -4 -4 0
I BB 39 104 52 52 -1 -1 0
RKw—TH 300 518 248 270 3 1 2
KHW=—TH 910 1,577 764 813 26 0 26
KMW=TH 530 1, 081 507 574 -9 -1 -8
KM@ TH 723 1, 581 762 819 7 0 7
KMETH 791 1,749 824 925 2 0 2
RKMWATH 534 1,107 532 575 -6 -1 -5
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X fia 1, 321 3,172 1,515 1,657 37 -1 38
=) 52 302 876 423 453 -4 0 -4
AHE—TH 1,667 3,776 1, 846 1,930 2 1 1
= ] 1,878 4 359 2,135 2,224 -5 -2 -3
SR—TH 184 468 221 247 1 1 0
SR°-TH 338 909 414 495 -9 0 -9
SR=TH 245 590 294 296 -1 -1 0
SEROETH X X X X 0 0 0
SRAETH 0 0 0 0 0 0 0
SRE—TH 296 755 353 402 -2 -1 -1
SRE-TH 208 487 235 252 3 -1 4
SRE=TEH 239 564 252 312 -2 -1 -1
SREMTH 429 1,037 477 560 -5 -3 -2
SREERETH 161 414 186 228 -1 0 -1
SREBENTH 331 749 354 395 3 -2 5
SREETH 361 855 409 446 -1 -1 0
E B i = 10, 015 24, 863 11,910 12, 953 25 -12 37
&5—TH 380 | 388 383 9 -1 10
fA—TH 632 1,352 670 682 21 1 20
BAAZTH 127 1,510 707 803 2 -1 3
£ PN 1,802 4, 607 2,165 2,442 -17 -1 -16
E#—TH 601 1,315 632 683 15 1 14
E#H_TH 685 1,685 803 882 24 -1 25
EH=TH 236 581 288 293 2 2 0
E#EMOUTH 223 659 310 349 -6 0 -6
EHEATH 445 1,124 534 590 -2 -2 0
HE X 2,183 5,511 2,701 2,810 -15 -1 -14
177 (o] 1, 401 3, 806 1,804 2,002 -10 -8 -2
E3] = 700 1,942 908 1,034 2 -1 3
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